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1. 38 Td%eT & 9 hL S Uiad 3HeR-

I @ 3 R HOfT ¥ f5F ghR g@ Egi FHUSE
38R FHE Ugdl HeR-TIg ¥ Tafdd & 3R (C) BYZ
dler 3eR-THp Y HeN-THE & Fafa ¥ (D) JOH
XPF: DLV :: VAN: FAN:: ERY: ?
(A) VIC Answer: D .
(B) WIC 5. s AT Hc HIWT # 'BREAD' hI RBBDA
(C) viIC & ®U H pedg fhar -1 & AR 'FLOUR' &
(D) Ve LFLRU & &T & heag fhar oram | 3¢ omor &
'PAINT' &1 fehH UehR heerg Teham STTam?
Answer: B (A) APFTN
2. Twp AT A WA B IR=TT A g, (B) NTFAP
T Afeell, HRAT F Fel, "dg A FGT P 9EX Eg)) ﬁiﬁ:
T I ®" | XAAT BT HRAT F FIT HIYG § |
W aeq Answer: a
() = e 6. 39 TAhed &1 II L o fGU T Qreat
© 8 ¥ 39 T HH B AT &, o A F A
(0) AT 3l Sreaeier & Rd &)
Answd: d 1 Lambast 2 Lighten 3 Legacy 4 Languish 5

Laughter 6 Lightly

3. & TS aepfa H Breil @1 | 9arsy |

(A) 1,5,4,3,6,2
(B) 1,5,4,2,3,6
(C) 1,4,5,3,2,6
(D) 1,4,5,2,3,6

E'BA; 1134 Answer:  C
7. 59 S ARl &7 WM RER dedd 9 fedr
() &2 FHIBRT el BT SI?
(D) 12 1
Answer: b 78 +48 x84+ (26 x7)— 39+ (45
4, AFEfaf@d ar MeR-aqE & 4 a9 (A) 45 sk 48
RrEll TR T N ¥ IR v e ¥ e (B) 48 v 39

(C) 26 3k 15
JER-HHg BT I HfST| (D) 78 3R 45



mailto:apanacareerssm@gmail.com

Answer: C
8. &I R & I3 A U FH U

deod W Aeafaf@d & & dia a1 gefiaor
T m?
8 dAT 2

(A) 8x4-9+3+2=35

(B) 2x4-8+5+1=50

(C) 8x4+6-2+1=6

(D) 7+2-8x4+1=0

Answer: C

9. 3 dd IRNW & IIA HY o AeaAfarad
& g $ FgdU P FgdidHA §T F S2ATT &

OO

(A) O (B)
L9,
Answer:

10. fAs=ifera ﬂET—‘r B CATAYID T
#y IR v v Rpeut & O 39 &I HI
YT P Sl SHA gHarasd g ()& TAE W
3T GhdT B

11159

1416 7

753188
(A) 13
(B) 25
(c) 18
(D) 22

Answer: A
11. Aseriesis given with one term missing.
Select the correct alternative from the given ones
that will complete the series.

TTDS, VMLP, XFTM, ZYBJ, ?

(B) NDMO
(C) BORI
(D) TTMO

Answer: a

12. 38 94 & di9 Y49 U v §, 59&
gt o Ay |, 1| 3R mfew v 1 FYEt #
oI A T A & O FdAd a2dl § e
ydid @1 &, Ao fifse 6 ala ai/a [y
hUAT T ATfhed T { HJEUT AT B
HIEOT A &

HY:

g FogeX dueiy ¥l

gl dlueiy Aasa g

3T FGFA cIeIT T

ey

1. S ASA HTY B

Il T FYX A B

. $S HFY el Bl

(A) Pad ARy | 3R 11 IFFEIOT B

el

(B) hael fAShY || 3 1N TFHIOT Hd
el

(C) daer fASHY | 3R (1] IFEIOT A
el

(D) FHA fATHY ITEIVT Hd B

Answer: A
13. <9 9faal &1 o9 & e & 13 3 & asar

ArSH] T ST Hehdl © |

B

N
I(_h - (] ml

ajaua’

(A) WCsﬁ? D
(B) @aa A,C 3R D

(A BRIG

(C) daa B3N C



(D) @aa A ik C

Answer: D

14. 39 AG-GIA &I I HIaT, S Sreh
38T T9Y & fAFgeT HEar &, S q9g Gu 9w
$H UAG-JoA H AHiHTD B
goil : Tems aeha

(A) SAFNRIT:FHEIT

(B) Topama : Tiv

(C) gferd : TUhST

(D) T : dTel

Answer: C

15. 38 I H II ST e
TN A & 38 JpR Fqdfdd ¢ 5 R
fAFfef@d gaeadl & eI 3ue A
HIAT T
(70, 14, 56)
(88, 30, 58)

(A) (59, 36, 25)

(B) (38,16, 24)

(C) (44,24, 23)

(D) (52, 19, 33)

Answer: D
16." U fAfRd Hc AW A 'TECHNOLOGY' hi
'NHCETOLOGY' & ®u & for@r Jrdar &,
'GENERATION' &1 'RENEGATION' &6 &7 & for@r
STaT &1 38T AT F 'APOCALYPSE &Y fhH U
for@r Seam?

(A) ACOPALYPSE

(B) ACPOALYPSE

(C) AOCPALYPSE
(D) ACOAPLYPSE

Answer: A

17. faafof@a d @ wia @ @& & 7B
Foft #F ysg (?)F TAH W 3TT?

1 3 5

2 4 , 4

’ y *

(A)

(B)
(€)

Bl WP W N | e

(D)

Answer: C
18. & =AY & HEAF P HUH H UTER
deolad W Aeafoi@d d & dia a1 gaHaor
& ST Im?
7 dAT 9

(A) 7+6-9%x4+2=2

(B) 9x3+4-2-7=14

(C) 8x3 +6+9-7=2
(D) 9+4x3-7+1=10

Answer: A

19. 3d fddey Hpfd &1 T Hfaw
e & 98 3Mpfa (X) 38% AET & FU H
ol g5 & (3Pl T oA & AT =l )|

5

(A) (B)
(C) (D)
Answer: B

20. gqur &l e R & AFER 'MN' )
@S ¥ U IT FAST & g7 drel el guoT
gfafdeg & a3 &|

hk4 3 9 m ap




(A)bSmEEth
@ 92 w6 €vky
(C)qsmeEh)Iri

(D)bsrne3b|(rl

Answer: C
21. U AT fHe AW H, 'health is weight'

Pl '626'h ®T H Rcdg fpaT ST %, 'Exercise
Regularly' &1 '89'%h ¥ H FHcag fhIT SATdT &
3R 'bring good food' &I '544'h FT H Qg
fopar ST ®1 €T HIWT H 'balanced diet is key'
A fhH UhR Hedg frar Seom?

(A) 8423

(B) 3721

(C) 7312
(D) 4832

Answer: A

22. "RECRUITMENT" 3sre & 3718131 & T
fpaat oiis & fStaar HY avidrer & A H B
g1 ?

(A) O
(B) 1
€ 2
(D) 3

Answer: b
23. 9 98 fAdey &1 we $INT, S fev U 9rea) &
AT Bl difbdd 3R i BH |
I B |

Answer: C

Answer: A

25. 1% Fr B AR AaR $IeT ofdl & | 39
Gl TR I Har fa@?

26.

il N

- T
o Cd
’ / ! A
' ! LY
]
\\. ~.

JE
F oo i
3 o0 E
iE
(A) (B)
IE EE
00 ¢ E oo 4
o0 i 0o
iE iE
(C) (D)
Answer: C

Aafaf@a & forg a¥ & 9Ra & ugel

IR aAnTRear fafagsd aRa fFar = are

27.

(A) 1955
(B) 1962
(C) 1959
(D) 1947

Answer: a

TIFH AR TIFH BY gAfed Hifaw |

TaFA A (dhare F ueR)

TdFH B (3R am)

a. oo siyg st i. gefas (Sargassum)

b. @irer are ii. FTASIAATT (Chlamydomonas )
C. s darer iii. UsIhger (Rhodophyta)

d. #Y dhare iv. ArASiarT] (Cyanobacteria)

24 urdn, A9, g, e SR et S AT dfdk H




(A) a-iii, b-iv, c-ii, d-i
(B) a-i, b-ii, c-iii, d-iv
(C) a-iv, b-iii, c-ii, d-i

(D) a-i, b-iii, c-ii, d-iv

Answer: c

28. d¥ 2015 #H 357 UET Well &1 IS
el EIHT AT

(A) HTS

(B) UTd
(C) feeelt
(D) HIT

Answer: d
29. 2025 T HAHT HERAT 3N FEITcHDBAT

AT R & T A THN gRI TAHA
UAYHA (Ennum Ezhuthum) ST AX fr ?'Té oYy
A A & ToT & & T8 T

(A) 6 3R 10 &% da &

(B) 10 ¥ 15 & g &

(C) 57 A &

(D) 8 § & &

Answer: d

30. fawafaf@a & & fha gaA=gd: NS
g & wu # Feftia fear Srar €2

(A) &NHHAS

(B) HHAATUHSH

(C) Shradase

(D) TISTHS A

Answer: b

31. dNTE gcd ARG & fopd IsT ¥ Fafdd

(A) HERTE
(B) HET U

(C) dARME
(D) SIRWs

Answer: C

32. TRagy {euaAzar diaddAs
Aafaf@a d & feg 9RAT e s &
HA ATH &2

(A) dfsa feamy Shichet
(B) Ufsd pAR TiYd
(C) Ufsd 3MPRATT S
(D) ufed STERTS

Answer: b
33. ORI F‘\’T?:[ (Paro Tschechu) & aTdH &

ufdg Aer fhg ¢ & HASGRT JTar &2

(A) SIar
(B8) USels
(C) g

(D) eI

Answer: d

34. fafef@a d @ fra IRd T &
3Uep! T fehell fHelom?

(A) TFATS

(B) SeATedh

(C) =& 9T

(D) 3nfEar

Answer: C
35. "I 3R g &7 e d uv 9 §

&1 Aeafar a8 @ Pia-ar gAST Tead &2

(A) PIME FTECTorT
(B) ofleY HSIERT

(C) Y- Farar AR IEard &
(D) IFAATIY - PFITT U FHg




Answer: d

36. HUUE &l IS F 39T Il arell gt
HT WT P FIT HEl AT § ?

(A) Hea

(B) HITHAT IR

(C) THAT HSH

(D) TS

Answer: a

37. A0 $HdfS A g & gegAe iR
Helcd & HIY T&cdrehyor fERTH & AU hl
quid &a foRar am?

(A) ST 1798

(B) 31T 1796

(C) HTT 1795

(D) &S 1797

Answer: a
38. a9 T AT A g3 AT

(A) 1901
(B) 1903
(C) 1905
(D) 1907

Answer: C

39. $Rd & IAU &1 AeAfaf@d # 4
P T MY 1993 H FIRUIoIhT TIIDPRT Pl
qaurfad ¥ F AT ¢ & fow HAfAAIAT
fopar arar ar?

(A) 73 a1 Giaur gy afafaas,

1990

(B) 72ar Efgura Ty HfAATH 1989

(€) 71 ar giaua gy JfaETed
1988

(D) 74T GIIUT MY IFTAFITA 1992

Answer: d
40. fr=faRaa 7 @ @9 9 € ofd R & a9 T
o7

(A)__ dfy —faufde

(B) TR —=iedi
(C) paARMI™

9

(D) #HEIESTED

Answer: B
41. 37Fger 2021 H ool PN gRT Y&
forar IrT "¢ F FHeT FIFHHA HET---- dd &
ot & faw ¥

(A) 18V

(B) IXE Xl
(C) VIF XII
(D) VIg Vil

Answer: b

42. Ao fhed N3N (RRR) A
fArafafaa & & frad grr =T arg arg g
& fow Mesa volia Shiae sfasg @ I

(A) T. 3R. A
(B) TUH. UH. RN
(C) AT Arelter

(D) SAF-UEHTA-ITT

Answer: b

43, HRAT TET FOT & AfdA 98T &

¥ FH TT-ATHA AT "TARIST- Ig GV GIGIHTS
AR F 3. T (INC)F [eafaf@a & 4
fora QAR & 6 oA

(A) EThIgY
(B) diFd

(C) ShoTeheT
(D) HarE

Answer: C

44. FRAYET B UG & FAET I0TGT
feaq AAY & AT 26 FTd A Tk 8T &




T H G AT BT AT Ascd g2

(A) 1857 &I pifa

(B) quT FeRrar & gwoT

(C) IRAT TET FHAT &1 TAUAT fgaa
(D) TURYT HATIe fead

Answer: b

45. fAafef@a & 4 frg a¥ & ardT a=r
S IMar @B gAITert & Heh HIAT?

(A) 1961

(B) 1967

(C) 1956

(D) 1959

Answer: a
46.  wore faadfadr & RBgid & 3garR, g
&b TASTHSS Pl----T3T IR S BIE Telel A
Rranfaa forar = &1

(A) 7

(B) 16

(C) 6

(D) 12

Answer: b

47. R{dR 2022 & Feafof@a F @ 5
HRA & O ATh 3%ha TH (CDS) & &
g fepar aram ar?

(A) offcade FTelRer HfAel diee
(Garfaea)

(B) STelel GoldR T8HE el

(C) STelReT HANST HDeG ALl

(D) IR HAAIS TS

Answer: a
48. Motion of an objest is if its
velocity is constant.
(A) only decelerating
(B) non uniform
(C)  uniform
(D)  Only accelerating

49. HARd & Aafo@a & 4 fvg g &
"HETE" (MANAS ) SRIEHRR Rea &g &2

(A) AT

IE LRy
(C) Fgre g

(D) 3THH

Answer: D
50. drEhedidl # g W@l (AT Ed)
forger feear &It

(A) RS PIC

(B) & I

(C) e I

(D) ufaefaa &

Answer: B

}.,2 _ g x% +2x+j;rz

51. aRx+ ¥
=

3 _ 2
? X 5x FT 99

N‘ﬂ

(a) ¥

|

-
i

(B)

(€ -

|I:.I'l EN|H]

b
&

(D) -
Answer: C
52. feuw 71w &y & " & Ter fAdeu @r
I HITAT|
Teh g & g & AR (3() W ar Tuel Wie
i S
(A) & TP gEX & TAECR @ ¥l

(B) & Ueh g@Y & eigad gl &
(C) & 3gH fig & TR I

(D) & Th gEX A Ufdese didr Bl

ANnswer: C




Answer: A
53. 3¢ sin(A+B)=cos (A+B)%,dl tan AT

AT TehdaT glem?

1+tanB
(A) 1-tanB
1+secB
(B) 1-secB
1-tanB
() 1+tanB
1-cosecB

(D) 1+cosecB

Answer: C

54, & TS aIfer P 3T Hiaw iR
A QU 9T gsr &1 3R QAT

IE diferepT ay 2010 & 2014 dHh fpd) A &
fffiea 4 oSl A, B, € 3iR D#H AR I1dd
ol & FE&aT Al &, 1Y & 3 aul & e
ifaer odien & =<0t g arer o fr G i
gl

¥ 2010 2010 | 2011 2011|2012 2012 | 2013 2013|2014 2014
680|620 |600 560 |720 | 700 |800 | 760 |750 | 700
550 530 |450 420 |800 550 |650 | 620 |700 680
480 430 | 5§20 l 500 | 580 550 620 l 600 | 720 700
710 630 | 750 l 710 | 680 1 640 720 l 690 | 740 710

gy auf & ST Fiers DA ATHITRT ©ET &
3 aa @1 Frels D 3T BE & dEa @
& GeIGESICRCAIE LY

o0 m|>»

(A) 20:17
(B) 18:17
(C) 19:17
(D) 21:17

Answer: b

55. gd & Udh [FAodd@s &l & d%he 66cm’ &
3R 38 PAeg@s & HIUT &1 AT 60° T 3T gd

&1 AT A9 HiSv |
(A) 7V19 cm
(B) 6v1i4 cm
(C) 3vida cm

Answer: C
56. 3Ifg HR HId &AW &, d YA 'n'
UThd HEAT3H T AR FHCR AT AT
n(n+1)}

w2
[n(n+1)(2n+1)}

(8) 6
(Zn+1)

c 3
(D) n

Answer: C

57. frdt OfY W 21% arffe < @3 9 2
gy &l Iehqig eaTel % 11,138.40 (SITST A1l &Y
8 whqle fohdm ST &1 2 auf & TG ud el

iy (X HA) forder gofr?
(A) 35,138.40
(B) 31,538.40
(C) 24,000.50
(D) 28,315.40

Answer: a
58. fa=ft axg @1 sifbd Hew Rs.180 &1 ¥, 3% aifohd
T8 W 20% B W d97 W, 25% N U HRa ® | 9%
& &I 73 (Rs. #) S & |

(A) 110.80

(B) 120.80

(C) 125.50

(D) 115.20

Answer: D
1 2

59. 3Ife x=2-23 +23
e.dl x3 —6x%+

(A) 45
(B) 40
(C) 22
(D) 33

18x T HT FAT §?

Answer: C

60. '&PQRUEF qAfgaTg st & 3R pa=PR

(D) 5vi5cm

’



Hr oa@s A1d HifST |
Vi5a
A 2

B) 2

(€)

(D) 2
Answer: A
4 15

61. 3¢ sinA=E 3R sinB=E €, dl sin (A -
B) ST HTT AT EIM?

32
(A) - 45
13
32
13
Answer: B

62.  fear rm =rc cgdl et & faardf grr
fafea fawar & urg 37 & gelfar &

Class X Marks of a Student
(Values are in Degrees)

B English

IR ’ Hindi

: Social 5
g Mather
® Science

Ife Pl 37k 1800 &, ol HIHATSIh Ta=ied # urd
3Hep AT B

(A) 72
(B) 306

(C) 360
(D) 350

Answer: C
63. 1 ¥ 430 do fohaer &AW 7 3T 11

aa ¥ farsT &2

(A) 9
(B) 7
() 11
(D) 5

Answer: d
64. Uh TATd H did SFAGIN AN o T
| Y T W @ arel b . Fol AT
BT 20% GIF 3T Sidfeh fasiar 3R gus
SISl & Hcll BT X Pof Hcl BT 20% AT |
afe gud sufdaar AR fgda sufdaar & #ar
T 3 37,000 2T, dr fasiar & foraar Ad ura

g?

(A) 1,85,000
() 1,75,000
(C) 1,95,000
(D) 1,80,000

Answer: A
65. U fATRIA gl #, o1, T HoT &l
130% ¥| IS T Heg & 28% & gig o &
AR Taeha Ao TR & &, @l Hdean qul
Tegr & oy gfavrd Fam §?

(A) 59%

(B) 80%

(C) 75%

(D) 60%

Answer: B

66. P3R qUeHATH 3R B & ar

g € | PR QF vegfAfams ik W
T 3JUTd hAM: 5:11 3R 3:5 & Il AN
arg PR Q@ 1:3 & U H AR Teh
Nl T a1g 9 S ®, a tegfafaas

e g H luT o1 Tohaar ufaerd




(Fieredd quiter & QUITTehd) &2
(A) 63 gfasrd
(B) 52 yfaerd
(C) 48 ufaerd
(D) 56 ufard

Answer: D

2
67. afk 3t 3R axya qciraTeurdT 48 ¥,

ar y & 9dlcHAs® AT AT Pl
(A) 2
(B) 5
(C) 4
(D) 3

Answer: d
46+§0f32—6

3
37 —"of (34+6
2ot ( ) PT AT FAT &2

68.
5_4-

(A) 7
ﬁ

B 7

E

c 7

%
(D) 7

Answer: D
1 1

o x°
69. g x+X=7 ¢ ar +X T AT AT
faT |

70. 0 g arel ga H, THT TSI ABCD
T X &1 AR chr oW IET Sar ¥ afy
¢ ABC=2p 3T 2ADC=3p ¢, d gRadi zAoC&r
AT (B o) d1a A

(A) 210

(B) 245

(C) 200
(D) 216

Answer: D

71. A% urs d1C Helm 12 & JART A, B, C,
D3R EF zufeua 3k 30T oEt & FEar o
ger i ¥l

3ufaa @ = 1800

0T BT = 800
S
A =

5%  30%

€, 100"

oM EH Qe A 3ufeyd STEr dr uiad
T & (SAAIT & dIc Th
3 dd ) ?

(A) 16.8%

(B) 18.2%

(C) 16.1%
(D) 29.1%

Answer: C

72. TH AR 3:00am W UH o Iam & 3R
38 57 km/h T TT H AT &1 4:00am W TR
ol Ul <eIcl & 3 ATfereh 76km/h &1 =Tel &
TH 3T I H SHP UIST BT F AT &
ag IR A fhda gat geps Urwem?

(A) 7:00am
(A) 103862 (B) 7:30 am
(B) 113682 (C) 6:00 am
(C) 1038821 (D) 7:00 p.m.
(D) 103682
Answer: A
Answer: D 73. Tpdl IEm & U {ET Bl 90 km/h Y




AT F 37.5 e & 3R AW T FF 80km/h
6 TT F 14 Aae & g par sar &1 =
& Pel gl (km H) AT ST

5

(A) 7612
11

B) 62 12

5
(c) 7812
11

(D) 7412

Answer:

74. (N+15) T, ycds ufdfea 9 & e
Pk, 8 o & fopell T o1 36% QX X T
1 (N+9) afh AW BT @ 20 T F Q@ A
Tdhd &, I 390 ¥ yAa ufafea 7 a¢ a1

PIAT &1 dI NPT AT AT HiST]

(A) 52
(B) 50
(C) 55
(D) 64

Answer: C

75. THh MABR HAfd &1 GEIT &%l fohde
T o AT 35 cm 2

(A) 14500
(B) 15400
(C) 15700
(D) 16540

Answer: B
76. Select the correctly spelt word.
(A) Comemorate
(B) commemorate
(C) Commemmorate
(D) Comemmorate

77. Select the option that expresses the given
sentence in passive voice.
Did Rani call you?
(A) Are you called by Rani?
(B) Was you called by Rani?
(C) Were you called by Rani?
(D) Did you called by Rani?

Answer: C
78. Select the most appropriate synonym of the
given word from the sentence.
Ready She was preparing dinner in an organised
manner using well-equipped tools while listening to
the radio.

(A) Listening
(B) Equipped
(C) Preparing
(D) Organised

Answer: C
79. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No
substitution required’.
| asked Rahul that how far was his office from his

home.

(A) No substitution required

(B) how far his office was

(C) then how far was his office

(D) that how far his office is

Answer: B

80. Rearrange the parts of the sentence in
correct order.
The decision not
P. to include any kind of wealth or
Q. crisis, has proven controversial

R. income tax, which would be the fairer option
S. for solving the social care funding

(A) PRSQ
(B) QPRS
(C) RSPQ
(D) SQPR

Answer: A
81. Select the option that can be used as a one

word substitute for the given group of words:




A game in which neither party wins
(A) Quit
(B) Draw
(C) Flop
(D) Equal

Answer: B
82. Select the correct direct form of the given
sentence.
The old man asked the boy where the postman was.

(A) The old man said to the boy, “Where
was the postman?”

(B) The old man said to the boy, “Where is
the postman?”

(C) The old man said to the boy, “Where
has been the postman?”

(D) The old man says to the boy, “Where is
the postman?”

Answer: B
83. The following sentence has been split into
four segments. Identify the segment that contains a
grammatical error.
Pritha will been cooking / the meal of your choice /
before you / reach home.

(A) Pritha will been cooking
(B) the meal of your choice
(C) before you

(D) reach home

Answer: a
84. Select the option that gives the most

appropriate meaning of the underlined idiom.
| am working on too many projects. | think | have
bitten off more than | can chew.

(A) To take on more than one can handle

(B) To be happy to multitask

(C) To find work dull

(D) Not able to finish work

Answer: A
85. Select the most appropriate word to fill in the
blank.
All his endeavors to win his teacher’s favor proved ---
--And did not bring the desired results.

(A) futile

(B) Prosperous

(C) perpetual

Answer: A
86. Identify the sentence with correct spellings.

(A) There was not enough food in the
beggar’s house.

(B) There was not enouf food in the
beggar’s house.

(C) There was not enauf food in the
beggar’s house.

(D) There was not enoufh food in the
beggar’s house.

Answer: a
87. Select the most appropriate ANTONOM of
the given word.
SEIZE

(A) Snatch
(B) Catch
(C) Loosen
(D) Grab

Answer: C
88. Select the most appropriate synonym of the
given word.
Succulent
(A) Juicy
(B) Foul
(C) Decent
(D) coarse

Answer: A
89. Select the most appropriate option that can

substitute the underlined segment in the given
sentence. If there is no need to substitute it, select
‘No substitution required.”
The dress may pleasantly. Be delivered to us at the
earliest.

(A) May kindly

(B) _must pleasantly

(C) might kindly

(D) No substitution required

Answer: A
90. Sentences of a paragraph are given below in
jumbled order. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.
A. Shopkeeper: “Here, | have packed them all.”

) 4
(D) apparent

D AA [ {l
B Mata: “Please give mea packet of battoons, two—



packets of streamers, and some candles.”
C. Shopkeeper: “Since we are offering some
discount on the balloons, you need to pay only
thirty rupees.”
D. Mala: “How much do | need to pay?”

(A) BADC

(B) ABCD

(C) DABC

(D) CDAB

Answer: A
91. Select the option that can be used as a one -

word substitute for the given group of words.
A style of cooking food, characteristic of a particular
country or region

(A) Antique

(B) cuisine

(C) menu

(D) creche

Answer: B
92. The following sentence has been split into
four segments. Identify the segment that contains a
grammatical error.
They will go to bed / early since they / have to get
up / at five on the morning.

(A) They will go to bed

(B) early since they

(C) at five on the morning
(D) have to get up

Answer: C
93.  Select the most appropriate meaning of the
underlined idiom in the given sentence.
The MD of the company let the cat out of the bag by
telling her secretary, who got the much coveted
promotion.

(A) secretly confide

(B) openly confess

(C) To allow a secret to be known, usually
without intending to

(D) Creating a false story

Answer: C
94, Select the most appropriate option to fill in
the blank.
Researchers have found that 16 facial expressions

world regions.
(A) strike
(B) transpire
(C) occur
(D) befall

Answer: C
95. Select the most appropriate ANTONYM of the

given word.

Extol
(A) Censure
(B) Realistic
(C) Exposure
(D) Boorish

Answer: A
| decided to stay away from television (96) ----- a
whole year. After a week, | started feeling (97) ---.
But my friend Bess cheered me up . she (98) ---- me
every day and would take me places. It was (99) ----
how much fun we had without TV. My life had
become more (100) ----- without the good old idiot
box.

96. 1.Select the most appropriate option to fill in
blank number

(A) since
(B) from
(C) to
(D) for

Answer: d
97. 2.Select the most appropriate option to fill in
blank number.

(A) devoted

(B) depressed
(C) delighted
(D) deceived

Answer: b
98. 3.Select the most appropriate option to fill in
blank number.

(A) encouraged
(B) requested
(C) thanked
(D) attended
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Answer: a
99. 4.Select the most appropriate option to fill in
blank number.

(A) unlucky

(B) unlimited
(C) unbelievable
(D) unhealthy

Answer: C
100. 5.Select the most appropriate option to fill
in blank number.

(A) certain
(B) popular
(C) exciting
(D) boring

Answer: C




